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BHE{EE (FRAP %) RKFAI&¥HAH

BEE 100T/96S
B OB FRNEZIEE 23 MAE S AR STNE.

WRBEX:

T 368 G 2 b AR A AN BT B A R PR KT o AR DREEANZG 220 0 rp e A I I KR
Wi VR PRVBEE S AR, AR ERAH S ERAR AEA) B b B2 SR U S A TR L ) (antioxidant) 7
B P LRE

MEEFE:

TERVERER T, PUEMRIL IR Fedt-Znbng =N He(FeX-TPTZ)/ = A ¥ (11 Fe**-TPTZ MRe IR T Bhié
(412

BEXERAR:
TEIR K AR OL. BEFRC. 96 FLARANZRIRIK .

PR FILE R FNEC 1 -

SRR WA 120mLx1 M, fEFHRTTA .

R Wik 20 mLx1 M, BT,

WA T Wik 2 mLx1 M, 4°CEEGIRAT.

WA= Witk 2 mLx1 M, BOGHAE.

IREWERCIA): Kk —. w0 = BRI=4% 10:1:1 WHENRE, MEHET 37°CHlR.

R &
(1) M. M. R RS A RE
Mg Cil &I mT LU F T R B R kbt , A EAEH EDTA  Hikt) 4°C, 5000rpm 50>
10min, HFIERF. M35 MER SRR B TI5E, Al LL-80°CURAF (ANE I
30 & JEHHE .
(2) HAFER
THRALURRE (g) « FRERA (ML) 1: 5~10 L@l GEIFRIZ 0.1g 441, A ImL $2EGRD AT
IKIBEISE, SRJG 10000g, 4°CE5.Cr 10min, B L%, Bk LA,
(3) 4HHuFE
FHAIRECE (10° )« FREGRARD (mL) A 500~1000: 1 FELH] G 500 G 1mL $2EK
), VKRB (ThER 200W, #8A 3s, kg 10s, EE 30 ¥ ; 10000g, 4°CE.L» 10min, H i,
B UK AR

BRIESE:
1. EEFRAXTRH 30min, PHTTHEEZE 593nm.
2. BER
= HE e
B (pl) 10
PR (pL) 10
BAEW (uL) 190 190

FERE], XM 20min, F 96 FLAR, W 593nm WOGME, AA=A WE-A EH
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H R BAEATIE K HNEEROCERT 1.5 MR

BIEHENTEAR:

FrRUERTZE: y=1.2416x+0.0134 R2=10.9996 x:Trolox ¥ (umol/mL)
y:ROEEZEAA

B SE S MER v il 2 _E RIS LT Trolox (UESRFREEARSPIEILAE . (1) &HEA

REITHE

SIUEMAE ST (umol Trolox/g #EE) = (AA-0.0134) +1.2416xV FE+(V Fi=+V FEEXW) =0.8054x (

AA-0.0134) =W
(2) HHHAEARETH

RS EES (umol Trolox/mg prot) = (AA-0.0134) +1.2416xV FE+(V ¥E+V FEExCpr) =0.8054% (

AA-0.0134) +Cpr
(3) L4t 5

BPEMAES] (umol Trolox/10%ell) = (AA-0.0134) +1.2416xV F+ (V BV FEE x40
& ()
=0.8054x (AA-0.0134) + ZIfucE (Ji1S)

(4) $ZHAARERIT

SPTEAEE /) (umol Trolox/mL) = (AA-0.0134) +1.2416 =0.8054x (

AA-0.0134)

V FER: MAIRBUBAAR, 1mL; V FE: BPRESARR, 10pL; W: FEMBTE, g Cpr: FEAEH
W, mg/mL

AR

Lo R =X AR, 15 RBUE A B & . 9 7 R AR, 155 KO I T
=

2. REEGE AR RM T 2 OB R, 7 A G A 2 R AT
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